file://ID|/Erector art/inventory 1 - 7 new.txt

I NVENTORI ES FOR A " GENERI C'

PART

8- 32 square nut

7/ 8" dia. pulley

12 tooth gear - 1/8"
Coupl i ng

5 hole strip forned
Cr ank

Hank of string
Col I ar

Mtre gear

2 1/8" axle rod

6" axle rod

Car truck

Set Screw, 6-32
1/4" x 8-32 screw
1/2" x 8-32 screw

1 3/8" x 8-32 screw
7/ 8" x 8-32 screw

2 1/2" girder

5" girder

10" girder

2 1/ 2" curved girder
5" curved girder

5 hole strip

7 hole strip

11 hole strip

21 hole strip

Smal | doubl e angl e
Long doubl e angl e
Paw

Boi | er

Boil er top

St ack

Fl anged wheel 15/16"
Hook

Paper Erector Flag
2 7/8" axle rod

4" axle rod

6" angl e girder
Smal | washer

Regul ar turret plate
Pi erced Di sc

Ri ght angl e

36 tooth gear

7" axle rod

Mot or pul | ey

12" angl e girder
Gear box side plate

Base plate 1" x 2 1/2"
Base plate 2 1/2" x 5"

Flat plate 1" x 5"
Large 3" wheel disc
W ench

12" Base plate

3" angl e girder

Fl at car truck

Nut hol der

House

2 1/2" sq. base plate

file:///D|/Erector art/inventory 1 - 7 new.txt (1 of 2) [5/12/2001 7:21:15 PM]

NO
N21
P7
P13
P15
P20
P24
P34
P37
P48
P57A
P57D
P79
S11
S51
S52

wn
o
~

E%NEC4OZZ_IOﬂmUOw>§

[ssvs R vsRvy)
—|z|—rnl>|%

IRESES2TROS5TRRENREL

11/2
23
4

TNOMN!' R RPOR
o

AN

2 1/2
45
4

N Al

w
g1 w

"' NPhrOPRAPMO!

1950' s VI NTAGE ERECTOR SET

31/2
60
4

URDMNR ' DR
ow

' NPhrOPRAAPMO!

CPRAN Y ABRERN A

4 1/ 2
88

AR UORRE RN

QK
onN

PR T NADNNDNPAOOORMO Y

N

IS

PRER ' ARMRPDIMRARN ' ARN ' RPRNRPANNRR

6 1/2
93

NN

TR NBRNNRADOORNO! RONDM ! RPNORR ! NFE A

N

IS

PRPER ! ARMRPDAMRARNNARNNRPRPNRANNRR

7 1/ 2
93

g

N

PRENARMERARENNARNWRNALEANORRRAWRENANNANNAEROOARRERQOMN ! PNNEENNE S



file://ID|/Erector art/inventory 1 - 7 new.txt

Bearing bl ock MZ - - - - 1 1
Lanp socket unit NH - - - - - -
Bulb, 1 1/2 volt NI - - - - - -
Battery hol der NJ - - - - - -
Screwdri ver Nz/ P33 1 1 1 1 1 1
6" flexible coupling CE - - - - 1 1
El ectric notor A49 - - - - 1 1
Mechani cal notor A48 - - - 1* - -
Mot or key K48 - - . 1* ) )
3 Volt Mbtor DC3 - - - 1* } }

NOTE: N21 and S51 counts are approxi nmate.

P13 gears use headl ess set screws.

1950-53 sets had an A47 notor instead of an A49 notor.

1955-59 7 1/2 sets included 1 each NH, NJ and P12N677 red bul b.

1958/ 59 sets 6 1/2 on up included 1 P14A686 Rocket.

1959 7 1/2 sets up had additional parts: 1 each P79, F, H, TA conveyor belt, 4 W 8 Z
3 1/2 set was avail able from 1955 -

* 4 1/2 set had the A48/ K48 until 1957 when the DC3 was substituted and 2 NJ were added

file:///D|/Erector art/inventory 1 - 7 new.txt (2 of 2) [5/12/2001 7:21:15 PM]



	Local Disk
	file:///D|/Erector art/inventory 1 - 7 new.txt


